i:
[GeV
o
w

1/Ncdot di/dM
o
N
o)

o
o
N

0.015

0.01

0.005

[EEY

Ratio to ATLAS

0.5

Jet mass [GeV]

7000 GeV pp Jets
LA Y I L Y IR IO B B o )
I — |

. ()]
— Jet Mass (antl-kT(l.O), pT>3OO, | < 2.0) 13
B p=
~  m  ATLAS 1%
| = Pythia 6.428 359 N
— A Pythia 6.428 370 13
B Pythia 6.428 a b
- ---v-- Pythia 6.428 dw 2
— o Pythia 6.428 p0 —*
e 3 Pythia 6.428 pro-q20 |
— —©
- 4™
®
- — ™
B s
o
- —H4 ™M
—
— =
B ks
- 4.8,
— —<
(@]
B e
I 1o
= s
%]
- 12
— 1o
| | ©
SRR R | s | | ]
— =2
1
- V\"\g _
L —0.5
1 1 1 1 | 1 1 1 " 1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1
0 50 100 150 200



	Contents
	Page 1


